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Oppgave 1. Regn ut. 

a) 2 + 3 ∙ 5 = 2 + 15 = 17 

b) 20 – 10 : 2 + 3 ∙ 2 = 20 – 5 + 6 = 21 

c) 10 – (-3) – 5 – 7 = 10 + 3 – 5 – 7 = 1 

d) -6 – (-2) ∙ 2 = -6 – (-4) = -6 + 4 = -2 

e) (-8) : (-2) + (-10) : 2 = 4 + (-5) = 4 – 5 = -1 

f) - (3 + 4) ∙ 10 = -7 ∙ 10 = -70 

g) - (2 – 4 ∙ 2) + 5 = - (2 – 8) + 5 = - (-6) + 5 = 6 + 5 = 11 

h) 32 + 42 = 9 + 16 = 25 

i) -52 = -25 

j) (-5)2 =25 

k) -32 ∙ (-2)2 = -9 ∙ 4 = -36 

l) (5 + 2) ∙ 32 = 7 ∙ 9 = 63 

m) (5 + 2 ∙ 3)2 = (5 + 6)2 = 112 = 121 

n) 5 + 2 ∙ 32 = 5 + 2 ∙ 9 = 5 + 18 = 23 

o) -10 (23 + 24) = -10 (8 + 16) = -10 ∙ 24 = -240 

p) 5 + (6 – 3) (8 – 6) = 5 + 3 ∙ 2 = 5 + 6 = 11 

q) -20 + (-3 + 7) (-3) = -20 + 4 ∙ (-3) = -20 – 12 = -32 

r) -7 – (5 – 2)2 (10 – 23) = -7 – 32 ∙ (10 – 8) = -7 - 9 ∙ 2 = -7 – 18 = -25 

 

Oppgave 2. Regn ut. 
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Oppgave 3. Skriv som potenser. (Eksempel : 43 ∙ 46 = 49) 

a) 52 ∙ 56 = 52 + 6 = 58 

b) 62 ∙ 67 = 62 + 7 = 69 

c) 105 ∙ 104 ∙ 102 = 105 + 4 + 2 = 1011 

d) 48 : 43 = 48 – 3 = 45 

i) 25 ∙ 32 ∙ 26 : 34 = 25 + 6 ∙ 32 – 4 = 211∙ 3-2 

e) 311 : 33 : 31 = 311 – 3 – 1 = 37 

f) 43 ∙ 46 : 42 = 43 + 6 – 2 = 47 

g) 27 : 22 : 23 ∙ 25 = 27 – 2 – 3 + 5 = 27 

h) 47 ∙ 42 ∙ 53 ∙ 53 = 47 + 2 ∙ 53 + 3 = 49 ∙ 56 

j) 53 : 24 : 52 ∙ 23 = 53 – 2 ∙ 2-4 + 3 = 51 ∙ 2-1 

 


